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public class Solution {
public void FindNumsAppearOnce(int [] array,int num1[], int num2[]) {

int tmp = 0;
num1[0] = O;
num?2[0] = O;

for (inti = 0; i < array.length; i++)
tmp A= array[i];
int index = findFirstBitls(tmp);
for (inti = 0; i < array.length; i++)
if (isBit(array[i], index))
num1[0] = arrayl[i];
else
num2[0] A= arrayl[i];

}

public int findFirstBitls(int num){
int indexBit = 0;
while(((num & 1)==0) && (indexBit) <8*4){
num = num >> 1;
++indexBit;
}

return indexBit;

}
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public boolean isBit(int num,int indexBit){
num = num >> indexBit;
return (num & 1) == 1;
}
}
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